
  

APRIL 2021 60563/CYA6E 

Time : Three hours Maximum : 75 marks 

PART A — (10 × 2 = 20 marks) 

Answer any TEN questions each in 30 words. 

1. What is Factory? 

 öuõÈØ\õø» Gß£x ¯õx? 

2. Define “Adolescent”. 

 ÁÍº CÍ® £¸ÁzvÚº & ÁøμÂ»UPn® TÖ. 

3. What is meant by Hazardous process? 

 A£õ¯Pμ©õÚ ö\´•øÓ Gß£uß ö£õ¸Ò GßÚ? 

4. What do you mean by retrenchment? 

 BmSøÓ¨¦ £ØÔ }Âº AÔÁÚ ¯õøÁ? 

5. What is award? 

 wº¨¦ GßÓõÀ GßÚ? 

6. Who is dependent? 

 \õº¢v¸¨£Áº Gß£Áº ¯õº? 

7. What is partial disablement? 

 £Sv C¯»õø© GßÓõÀ GßÚ? 



 60563/CYA6E 2

8. Who is casual worker? 

 AÆÁ¨÷£õx £o¯õØÖ® öuõÈ»õÎ Gß£Áº 
¯õº? 

9. Who is eligible for employees state insurance? 

 FÈ¯ºPÒ ©õ{» Põ¨¥miØS uSv¯õÚÁº ¯õº? 

10. What is the employees State Insurance Act, 1948? 

 FÈ¯ºPÒ ©õ{» Põ¨¥mka \mh®, 1948 Gß£x 
¯õx? 

11. What do you mean by Employees provident funds? 

 £o¯õÍºPÒ ÷\©{va \mh® £ØÔ {Ãº AÔÁÚ 
GßÚ? 

12. Define “superannuation” 

 "‰¨£øhuÀ" & Áøμ¯Ö. 

PART B — (5 × 5 = 25 marks) 

Answer any FIVE questions each in 200 words. 

13. What are the provisions of the Factories Act, 1948 
with regard to appointment of welfare officers? 

 öuõÈØ\õø» \mh® 1948&À öuõÈ»õÍº |» 
A¾Á»º {¯©Ú® öuõhº£õÚ \μzxUPÒ ¯õøÁ? 
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14. State the provisions of Extra wages for overtime in 
factories act. 

 öuõÈØ\õø» \mhzvÀ ªøP÷|μ©õP ÷Áø» 
ö\´uuØS TkuÀ T¼ ÁÇ[SÁx öuõhº£õÚ 
\μzxUPøÍ TÖP. 

15. What are the duties of a conciliation officer as laid 
down in the Industrial Disputes Act, 1947? 

 öuõÈØ\õø» uPμõÖ \mh® 1947&À SÔ¨¤mkÒÍ 
J¸ \©μ\ A¾Á»›ß Phø©PÒ ¯õøÁ? 

16. What are the conditions precedent to a lock-out of 
a factory? 

 J¸ öuõÈØ\õø»°ß PuÁøh¨¦US •ß÷Úõi 
{£¢uøÚPÒ GßÚ? 

17. State the method of calculating monthly wages 
under workman compensation Act. 

 öuõÈ»õÍº CÇ¨¥mka \mhzvß RÌ ©õuõ¢vμ 
T¼ PnUQk® •øÓø¯ öu›Â. 

18. What are the duties of the Employee’s state 
Insurance Corporation? 

 FÈ¯ºPÎß ©õ{» Põ¨¥mk {ÖÁÚzvß 
Phø©PÒ ¯õøÁ? 

19. Write about the constitution of Employee’s 
provident fund appellate tribunal. 

 FÈ¯ºPÎß Á¸[Põ» øÁ¨¦ {v ÷©À•øÓ±mk 
wº¨£õ¯zvß Aø©¨¦ £ØÔ GÊxP. 
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PART C — (3 × 10 = 30 marks) 
      Answer any THREE questions each in 500 words. 

20. Describe the provisions of the factories Act, 1948 
with regard to health. 

 öuõÈØ\õø» \mh® 1948&À öuõÈ»õÍº EhÀ|»® 
öuõhº£õÚ \μzxUPøÍ ÂÁ›. 

21. Explain clearly the machinery that exists under 
the industrial disputes Act 1947 for the settlement 
of Industrial disputes. 

 öuõÈÀxøÓ ÷©õuÀPøÍz wº¨£uØPõÚ 
öuõÈÀxøÓ uPμõÖ \mhzvß RÌ C¸US® 
C¯¢vμ[PøÍz öuÎÁõP ÂÁ›. 

22. Define and discuss “arising out of and in the 
course of employment” as used in the workmen’s 
compensation act,1923. 

 öuõÈØ\õø»°À ÷Áø» ö\´²® ö£õÊx HØ£k® 
Â£zx ©ØÖ® öÁÎ÷¯ |hUS® Â£zx £ØÔ 
öuõÈ»õÎ°ß CÇ¨¥mka \mh® 1923&À 
SÔ¨¤h¨£mhøu Áøμ¯ÖUPÄ® ©ØÖ® ÂÁõv. 

23. Discuss the different types of benefits provided by 
the  employee’s state insurance Act,1948. 

 FÈ¯ºPÎß ©õ{» Põ¨¥mk \mh®, 1948&À 
Ah[Q¯ £À÷ÁÖ ÁøP¯õÚ |ßø©PøÍ ÂÁõv. 

24. Outline the purpose of employee’s pension scheme. 

 FÈ¯ºPÎß K´Åv¯ vmhzvß ÷|õUPzøu 
÷PõimkU PõmkP. 

——————— 


